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1. Í Û Û ¾ ÛÛ Ü ›÷ïõ ÈÛ Í ©Û à ÉÛ ÛÍ ª Û  …é¤øÅÛ é  ÉÛ ä× ? ©Û é¶Û ä× ïõÛ ýÛ Ù“Û éª Û  ÈÛ ¨Û ÙÈÛ Û é.  
 What is Social Demography ? Discuss its subject matter. 

          …¬ÛÈÛÛ/OR 

 ½ Û Û Á õ©Û¾ Û Û× Í Û Û ¾ Û ÛÜ ›÷ïõ ÈÛ Í ©Û à ÉÛ ÛÍ ª Û ¶Û à  Š¸Û ýÛ ÛéÜ •Û ©Û Û  ›÷¨Û Û ÈÛ Ûé.  
 Explain the utility of the Social Demography in India. 

 

2. ÈÛ Í ©Û à  •Û ¨Û ©Û Á õà  …é¤øÅÛ é ÉÛ ä× ? © Û é¶Û Û é Šþ Õù ½ Û ÈÛ  …¶Û é  Ü ÈÛ ïõÛ Í Û  ÈÛ ¨Û ÙÈÛ Û é.  
 What is Census ? Describe its emergence and development. 

    …¬ÛÈÛÛ/OR 

 ÈÛ Í ©Û à  •Û ¨Û ©Û Á õà ¶Ûä× ¾ Û Ðü« ÈÛ  Í Û ¾ Û›Û ÈÛ Û é.  
 Explain the importance of Census. 

 

3. Í Û Û ¾ ÛÛ Ü ›÷ïõ Í Û ¾Û Í ýÛ Û  ©ÛÁ õ à ïéõ Ü ¶Û Áõ“Û Á õ©Û Û ¶Û à ˜ Û ˜ ÛÛ Ù ïõÁ õÛ é.  
 Discuss in detail the illiteracy as a social problem. 

    …¬ÛÈÛÛ/OR 

 Í Û Û ¾ ÛÛ Ü ›÷ïõ Ü ÈÛ ïõÛ Í Û  …é¤øÅÛ é ÉÛ ä × ? Í Û Û ¾ Û ÛÜ ›÷ïõ Ü ÈÛ ïõÛ Í Û¾ Û Û× Ü ÉÛ “Û ¨Û ¶Û à  ½ ÛæÜ ¾ Û ïõÛ  ÈÛ ¨ÛÙÈÛ Û é.  
 What is Social Development ? Mention the role of education in social development. 

 

4. Ü ïõÉÛ Û éÁ õ à …Û é¶Û Û é …¬ Û Ù Í Û ¾ Û ›Û ÈÛ à , ©Û é¶Û à  ÅÛ Û “ÛÜ ¨Û ïõ©Û Û …Û é ÈÛ ¨Û ÙÈÛ Û é.  
 Discuss the meaning of Teenage Girls and their various characteristics. 

     …¬ÛÈÛÛ/OR 

 ïäõ¤ä ×ø¼ Û  ïõÅýÛ Û ¨Û ¶Û Û é …¬ Û Ù …Û ¸Û à ,  ©Û é¶Û Û  ÅÛ “Û ¨Û Ûé › ÷¨Û Û ÈÛ Ûé.  
 Define family welfare and mention its characteristics. 

 

5. (a) ” Û Û ÅÛ à  ›÷•ýÛ Û  ¸ÛæÁ õÛ é ƒ 
  Fill in the blanks : 

  (1) …Û µÛ äÜ ¶Û ïõ ÈÛ Í ©Û à ÉÛ Û Í ª Û ¶ÛÛ  Ü ¸Û ©Û Û ___ ___ __ ™ öé.  (¾ Û Û Å¬ Û Í Û , ¾ Û éî Í Û  ÈÛé¼ Û Á õ, šÐüÛ é¶Û  •Û óÛ Š¶¤ø) 
   __________ is the father of Modern Demography.  

   (Malthus, Max Weber, John Grount) 
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  (2) 2 0 11 ¶Û à  ÈÛÍ ©Û à  •Û ¨Û ©ÛÁ õ à  ¸Ûó¾ Û Û ¨Û é ½ Û Û Á õ©Û ¾Û Û× Í ª Û à …Û é ¶Û ä× ¸Û ó¾ Û Û ¨Û  ___ ___ _ ™ öé .   
   (9 4 2 , 9 4 1 , 9 40 ) 
   __________ is the rate of the women in India according to the census of 2011 

(942, 941, 940) 

  (3) ½ Û Û Á õ©Û¾ Û Û× ÈÛ Í ©Û à ÈÛèÜ ±ù  ¾ Û Û ¤éø __ ___ __ _ ¸Û Ü Á õ¼ Û Ç  ›÷È Û Û¼ Û þ ù ÛÁ õ ™ öé.  
   (Ü ¶Û Á õ“Û Á õ©ÛÛ , Í Û Á õïõÛ Á õ, Í Û Û “ÛÁ õ©ÛÛ ) 
   __________ factor is responsible for the increase of population in India. 

(Illiteracy, Government, Literacy) 

  (4) ïäõ¤ä ×ø¼ Û  ïõÅýÛ Û ¨Û  ___ __ ___ ïõÛ ýÛ Ù’ õ¾ Û  ™ öé. (º õÁ õÜ › ÷ýÛ Û ©Û , ¾Û ýÛ Û ÙÜ þù ©Û , Í ÈÛ íéÜ ˜ ™ öïõ) 
   Family welfare is __________ programme. (compulsory, limited, voluntary) 

  (5) Í Û é¶Í Û ÍÛ ¶Ûä× ïõÛ ýÛ Ù _ __ ___ __ ³ ù Û Á õÛ  ¬ Û Û ýÛ  ™ öé. (…é› ÷¶Í Û à , Í Û Á õïõÛ Á õ, ï×õ¸Û ¶Û à ) 
   Through __________ the census is operated upon. (Agency, Government, 

Company) 

  (6) ½ Û Û Á õ©Û¾ Û Û× Í ª Û à …Û é¶Û à  ©ÛäÅÛ ¶Û Û ¾ Û Û× ¸Û äÂ ú Ì Û Û é¾ Û Û× Ü ÉÛ “Û ¨Û ¶Û ä× ¸Û ó¾ Û Û ¨Û  ____ __ _ ™ öé.  
   (…Û é™ äö, ÈÛ µÛ Û Á éõ, Í Û ¾ Û Û ¶Û ) 
   In comparison of women __________ rate of men is there in India.                   

(less, more, equal) 

  (7) ½ Û Û Á õ©Û¾ Û Û× ÈÛ Í ©Û à ¶Û à Ü ©Û ¶Û Ûé ¸Û óÛ Á ×õ½ Û  ____ __ _ ÈÛ Ì Û Ù¾ Û Û × ¬ Û ýÛ Û é ™ öé.  
   (1 9 75 , 1 97 7 , 1 97 6 ) 
   In __________ year, the population policy was emerged in India.                     

(1975, 1977, 1976) 

 (b) ›Û é¦ øïõÛ  ›Û é¦ øÛ é ƒ 
  Match the following : 

    A   B 

(1) ÈÛ Í ©Û à ¶Ûä× ïõþ ù 
 Size of population 

(i) 1986 

(2) Í Û Û ¾ ÛÛ Ü ›÷ïõ ÈÛ Í ©Û à ÉÛ ÛÍ ª Û  
 Social demography 

(ii) Í ª Û à , ¸Û äÂ ú Ì Û 
 Male, Female 

(3) Í Û é¶Í Û ÍÛ 
 Census 

(iii) 1951 

(4) Á õÛ Ì ¤Öøà ýÛ  Ü ÉÛ “Û ¨Û  ¶Û à Ü ©Û 
 National Education Policy 

(iv) ÈÛ Í ©Û à ¶Û à  Í Û×” ýÛ Û 
 Figures of Population 

(5) ›÷é¶¦ øÁ õ 
 Gender 

(v) ÈÛ Í ©Û à  •Û ¨Û ïõ 
 Calculator of Population 

(6) ïäõ¤ä ×ø¼ Û  Ü ¶Û ýÛ Û é›÷¶Û ¶Û à  ÉÛ Äõ…Û ©Û 
 The beginning of family planning 

(vi) Í Û Û ¾ ÛÛ Ü ›÷ïõ Ü ÈÛ ß ÛÛ ¶Û 
 Social Science 

(7) …é¾ ýÛ ä¶Û Á éõ¤øÍ Û Ù 
 Amunerators 

(vii) þ ù Í Û  ÈÛ ÛÜ Ì ÛÙïõ ÈÛ Í ©Û à  •Û ¨Û ©Û Á õ à 
 Ten years population 

counting 

___________ 


